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Note : This paper has two sections — Section A and 

Section B. Both the sections are compulsory. 

SECTION A 

1. Fill in the blanks. Choose the correct answers 
from the choices given below. 	 15x1=15 

(Cross-arms, Energy, Reliability, Short-circuit, 

CT, Low, Vacuum, Static, Gases, Fault, Risers, 

Reactive, Rectifier, Moisture, Taps) 

(i) 	 compensation is provided by 

shunt capacitors in a sub-station. 

(ii) Quality of SF6  gas is checked by its 

	content. 
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(iii) 	 are provided on a pole to provide 

mechanical support to multiple conductors. 

(iv) 	  of supply increases with 

increase in number of transformers. 

(v) Circuit breaker can interrupt large 
	 current. 

(vi) 	 transformer is used for battery 
charging. 

(vii) Due to fault inside the transformer 
	 may be formed. 

(viii) Bus voltage is controlled by changing 

transformer 	  

(ix) 	  switchgear requires less 
maintenance than oil insulated switchgear. 

(x) Purified water with 	resistance is 
used for live line washing. 

(xi) 	 test is conducted for testing the 
mechanical strength of the transformer in 
terms of its impedance parameters. 

()di) 	 consumed is measured in kWh. 

(xiii) Secondary output current of a 	  
may be 5 A. 

(xiv) Transformer is a 	 device. 

(xv) The basic grounding system is in the form of 
earth mat with 	  
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2. Write true or false for the statements given 
below : 	 10x1.10 

(i) Isolator is operated at no load. 

(ii) Static meters are called electronic meters. 

(iii) Control supply of protection system is fed 
through AC system. 

(iv) Low investment in distribution system is a 
cause for Commercial Loss. 

(v) BDV of transformer oil should be low. 

(vi) Information Technology can play a major 
role in AT & C loss reduction. 

(vii) Multiplying factor of CT/PT can be a source 
of Revenue Loss. 

(viii) Drawback of Electricity Act, 2003 is that it 
doesn't have legal provision against theft of 
energy. 

(ix) Winding resistance of transformers should 
be high. 

(x) Buchholz relay is an oil operated relay. 

3. Match the following given in Column 'A' with 
Column 'B' : 	 5x1=5 

Column 'A' 	 Column 73' 

(a) Polymer 	 (i) Oil 

(b) PVC 	 (ii) Maintenance 

(c) PTW 	 (iii) Fault 

(d) BDV 	 (iv) Cable 

(e) Relay 	 (v) Insulator 
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SECTION B 

Answer any eight (8) questions. 	 8x5=40 

4. Differentiate between breakdown maintenance 

and preventive maintenance. 

5. List out the different activities involved in 

0 & M of distribution system. 

6. List the tests that are carried out for 

transformer oil. 

7. What are the reasons for Commercial Losses in 

Distribution System ? 

8. List out the different sub-station equipments. 

9. Differentiate between Power cable and Control 

cable. 

10. How is a fault interrupted by a Circuit Breaker ? 

11. What are the roles of batteries and battery 

chargers in a sub-station ? 

12. Why do we need a Distribution System ? 

13. Why is HVDS useful ? 

14. What do you understand by Grid sub-station ? 

15. What are the advantages and disadvantages of a 

Radial feeder ? Where are these feeders used ? 
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